Lattice Multiplication (H)

Use lattice multiplication to find each product.

17 4 2 6 7 0 6
8 9
9 9
1 0
2 0
2 3

1742 x 89122 = 6706 x 99003 =

2 9 7 6 4 7 2 1

9 8
8 4
4 4
8 9
2 5

2976 x 98482 = 4721 x 84495 =
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Lattice Multiplication (H) Answers

Use lattice multiplication to find each product.

1 7 4 2 6 7 0 6

0 5 3 1 8 5 6 0 5 9
1 8 6 2 6 6 4 3 0 4

0 6 3 1 9 5 6 0 5 9
5 9 3 6 8 6 4 3 0 4

0 0 0 0 1 0 0 0 0 0
5 1 7 4 2 3 0 0 0 0

0 1 0 0 ) 0 0 0 0 0
2 2 4 8 4 9 0 0 0 0

0 1 0 0 ) 1 2 0 1 3
5 2 4 8 4 1 8 1 0 8

0 5 2 4 4 1 1 8

1742 x 89122 = 155,250,524 6706 x 99003 = 663,914, 118
2 9 7 6 4 7 2 1

1 8 6 5 9 3 5 1 0 8
2 8 1 3 4 3 2 6 6 8

1 7 5 4 8 1 2 0 0 4
9 6 2 6 8 9 6 8 8 4

0 3 2 2 4 1 2 0 0 4
3 8 6 8 4 8 6 8 8 4

1 7 5 4 8 3 6 1 0 9
0 6 2 6 8 9 6 3 8 9

0 1 1 1 o) 2 3 1 0 5
8 4 8 4 2 0 0 5 0 5

2 4 3 2 0 8 9 5

2976 x 98482 = 293,082,432 4721 x 84495 = 398,900,895
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